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[bookmark: _GoBack]Supplemental Table 3: Two multivariable linear regression models and one binary logistic regression model listing factors influencing the difference between standardized LVMI and SL, standardized LVMI and CP, and discordance between ECG and echocardiography, respectively. LVMI was calculated using height1.7.
	Risk factor
	LVMIstandard – SLstandard
	LVMIstandard – CPstandard
	Discordance

	Age (per 10 years for discordance)
	0.118 (< 0.0001)
	
	1.77 (1.42-2.20) (< 0.0001)

	Male sex
	-0.312 (< 0.0001)
	-0.133 (< 0.0001)
	0.45 (0.34-0.58) (< 0.0001)

	Active smoking
	
	0.110 (< 0.0001)
	

	Antihypertensive medication use
Drug class:
ACE-I
Beta blocker
CCB
Diuretic
Combination
	0.026 (0.25)


0.010 (0.64)
0.045 (0.048)
0.022 (0.31)
0.021 (0.33)
-0.003 (0.88)
	0.016 (0.56)


0.006 (0.82)
0.029 (0.29)
-0.0002 (0.99)
-0.030 (0.26)
0.014 (0.61)
	1.16 (0.90-1.48) (0.25)


1.45 (0.97-2.16) (0.07)
1.31 (0.87-1.95) (0.19)
0.81 (0.37-1.80) (0.61)
0.70 (0.31-1.60) (0.40)
1.02 (0.70-1.47) (0.92)

	BMI
	0.425 (< 0.0001)
	0.191 (< 0.0001)
	1.12 (1.09-1.15) (< 0.0001)

	Systolic BP (per 10 mmHg for discordance)
	
	
	1.13 (1.06-1.20) (0.0001)

	Diastolic BP
	0.056 (0.01)
	
	

	Heart rate
	-0.081 (0.0003)
	-0.098 (0.0002)
	

	RWT (per 0.10 for discordance)
	0.099 (< 0.0001)
	0.066 (0.01)
	


Results are reported as standardized -coefficient (P-value) for the first two models and odds ratio (95 % confidence interval) (P-value) for discordance (last column).
Abbreviations: LVMI: left ventricular mass index, SL: Sokolow-Lyon voltage combination, CP: Cornell voltage-duration product, ACE-I: angiotensin-converting-enzyme inhibitor, CCB: calcium channel blocker, BMI: body mass index, BP: blood pressure, RWT: relative wall thickness.

